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Equipment

1. A black ink ball-point pen.
2. A pencil.

3. An eraser.

4. Aruler.

5. A pair of compasses.

6. A protractor.

Guidance
1. Read each question carefully.

2. Check your answers seem right.
3. Always show your workings

Information ~

1. This paper has been created based on topics

in the Advance Information.

2. Also see Corbettmaths for the checklist for the
entire GCSE as these topics may still be useful

for Paper3
3. There is one question per topic - this paper

is designed to give an opportunity to practice
each topic rather than replicate the actual paper.
4. The marks for questions are shown in brackets
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1. (a) y*xy*=1

Work out the value of n
U o

R

(b) Simplify fully
a’3xad

2 Harriet travelled from Bath to Cardiff.
Her average speed was 58 miles per hour.

There is traffic on the return journey.

Her average speed is reduced by 23% Maﬁ{ﬂ/"@f 2 0- +#

Work out the average speed on the return journey.

54 X o Tt#
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3. Susan buys an antique for £120 and sells it for £216.

Work out her percentage profit

b 10U
m %

4. Natalie invests £600 for 5 years at 3% per year compound interest.

How much interest does she earn?

-

(oo x 1-03" < fLas-st

95 - 54

¢

(9456 - koo

< Lauren is given a 12% pay rise.
Her new salary is £24,080

What was Lauren’s salary before the pay rise?
3% o ; 1 Q4080
19 ok 7: 214"

- 21500

00% o ?
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® @
6. Write 2 165 as a mixed number.
Give your answer in its simplest form.

1 = g\ Ié‘ﬂ?“f-
0L = Al-65bS -

10001 :aM§7£695~“
4901 = 214

T 77 A
R o & 495

7. Jim is making green paint by mixing blue paint and yellow paint in the ratio 8:3

(a) Write the ratio of blue paint to yellow paint in the form 1:n

F:5
i )4
'03?")/ ,a‘ 0‘31{

Jim has 120 litres of blue paint and 31.5 litres of yellow paint.

(b) What is the maximum amount of green paint he can make?

—

(AT %3 j&”w [n/«"r "“”ﬁu

21523 = lo5
gt bhe

[B]

(05 x 4

B4+ 319 45

...................... litres

3)
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8. The table shows a set of values for x and y.
y is directly proportional the the square root of x.

: 22 foo
! 9 36
Complete the table 71 " Z ﬁ
UoL JZ
& ﬂ
g LIz 34 = I3 Jx
2 JZ
9= =I5 20 Jz
E g
4=k #5 L= L0
£= 14
-
9. lttakes 6 hours for 20 workers to seed 40 acres.
How long would it take 15 people to seed 25 acres?
. ] docre)
[3-0 l\ourj F“r ( o acler to Sel'zg ¢
‘er ( SdJ [ et -
@ }\{,ar:- Fa‘r [ udor‘i 0
15 fours P.-r | wuorler o cd 14 b0ty
5 ke ko serd 16 se
S faws Fcr 2w t |
5 ks
()
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10.

1L

Anthony measured the length and width of a rectangle. 37.5~ = 38-5
He measured the length to be 48cm correct to the nearest centimetre.
He measured the width to be30cm correct to the nearest 10 centimetres.

1Gem 2 em
Calculate the lower bound for the area of this rectangle.

14.§ x a5 = 375

437 .5
......................... cm?
(2)
Jim picks a five digit odd number.
The second digit is less than 5.
The fourth digit is a positive cube number
The first digit is a prime number.
How many different numbers could he pick?
| w
Y L A 1
1)'5!(11' O)')i)jJL’ ,)‘Z ’-)3){) ;) q
G % 5§ * 1@ * L X g
1090 ..
3)
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12. Ballymena Rovers started a football season on —14 points
Each win is worth 5 points.
Each draw is worth 1 point
Each loss is worth -2 points.

Over the season, Ballymena Rovers won 15 matches, drew 3 matches & lost 7.

How many points did they finish with at the end of the season?

6 w5 =F9
kY v 3
T =t = "LV
. 50
-4 +35 +3 = s (2)
13. Expand and simplify y(3y—-1)+(y+4)(1 -vy)
e & VLIS
% gl
AT A
331 -(U 4
S T (2)
14, Bxpandendsimpity (x-7P
(1- %) (%)
45 b+
LK S lerr ]
2
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15. Factorise 81 — 4y?

(1-4) (ovy)

16.  Simplify fully

x®-x x?® - x

Xx+2 x2-Bx-14

oL, aend
Lyt y A &
Lt L (*-1)

/(i/')(;b+.)(¢~;)(/z A

17. Giventhat a=4,b=9andc=-5

Work out the value of

ab + 24
2c
24 FaY bo
W S B
—\0 =40
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18.  Shown below is a rectangle.

The expressions for the lengths and widths are in centimetres.

11x-2 1o
5 5
2x + 1 2x + 1
x+18 10
Find the perimeter of the rectangle.
) 01 = 1.0
1=

19. Make w the subject of the formula

gw—w C {7
w(ﬂ*‘)" %0
l.«):(ﬂwl

J
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20.

Y 240]

200 f Line L

160

120

80—
0

40

v

(a) Work out the gradient of Line L.

]
10 A
(2
(b) Work out the equation of Line L.
...... = 42 ¥ 40
(2)
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21.  Solve the simultaneous equations

X242 =25
X+y=7
1%~
i % =
(?*J) ry v
L4
lt_;qj vy 44 =0
y1r >0
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22. (a) Show that the equation 20 — 3 — 722 =0 canbe rearranged to give

20 \
2= -7 20-17 - 32" =0
20 =72 > %7
-, =P S L
2«

(2)

20
(b) Using ZTp41 = (o 7 with g = —9
xZ

n

find the values of X1, X2 and xa

~ &< P30 i

b, & O v s KA
o & TR UEIF3
ROEER et R e S mismiee
~6-53545134Y4
KB e S s s
3
(b) Explain what the values of x1 , X2 and xs represent
.......... p""“"“”"‘g/‘u‘”f‘/c/“)‘ﬂ %0*5"/"%4"0;
........ 20 = F L O e
(2)
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23. The lengths of 200 fish in a pond, / centimetres, are recorded below.

Leng'rh, | Frequency FIL

0<l<4 36 U4 9
4<1<6 40 Yot * 1o
6<1¢8 48 g v =
8<l¢12 44 apig = #H
12<1¢20 32 31-g = &

(a) Draw a histogram for this data.

*

Frequency
Density

w
b

v | 44

| 5

’ |
J i
6 v U £ D o v o b oy

length

)

(b) Work out an estimate for the fraction of the fish that have a length between
5cm and 11cm.

70 + 44 ¥3% > 10)
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24. The table shows the distance travelled to school by 47 students.

Distance (miles) Frequency
0<d¢2 19
2<d<4 10
4<ds<6 11
6<d«8 E
8<d¢10 | 3

(a) Draw a frequency polygon to represent this data.

@
20*
18
16
14

Frequency
10

O N H O O

0123456 7 8 9 10
Miles

One student is chosen at random.

(b) Work out the probability that this student travels more than 6 miles to school.
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25. George has a bag of marbles.
There are 6 red and 4 white marbles.

George takes out a marble at random and records its colour.
Without replacement, George takes out another marble, at random.

(a) Complete the probability tree diagram.

1st counter 2nd counter

20

Red 7

Red

&Y

White %0

Red %%t

20

White

. 1z

White _—

70

(2
(b) Find the probability that the two marbles are the same colour.
« 12
Plow) > 45 b
90
PLRR) = %
() = %
e
“Is
(3)
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26.  Abag contains discs, each with a letter written on it.

WEOOBEOE®®OOOG

One disc is taken at random from the bag.
The disc is not replaced.
Another disc is taken at random from the bag.

Calculate the probability that exactly one M is taken from the bag.

RS SR b

Plmwim)= =5 25 = 3'/10
R z . 4
p(,\,,,)(/n)m) N o /o’l/.o

3

3

.........................
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27.  Afarnfowns two identical fields.
Each field is a trapezium

80m

70m < 120m

The farmer is going to plant a crop.

Each 8 kilogram bag of seed costs £19.99
60g of seed covers an area of 1m?2

1000
The farmer has 2473 to spend on seed.

Has the farmer got enough money to buy all the seed he needs to cover both
fields?

feo d A 2 L(s0tne) 23
= ’5{00mL

D o A28 F000A"

605 X 2000 * QlOOOOJ 4 seed Lo Ll ,@.JJJ
z QZ(}?
Glo =94 = 9’1-5”/4% 475

53 b"j’

(%)
53 x £19.99 = £1059 47

/Vo . /(e Lé()&y":l(
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28.

15cm [/
b
s
12cm o
Shown is a right-angled triangle.
Work out the area of the triangle
Pl i/4>zq>(/tr§4m
prr b =18
~
(4 b =Y
LL L 41‘ é'llm‘l.
=4 @)
29. .
4-49951 3244,
7em -7
,»—"'/VO" (]

A r
Work out the area of the rectangle g-3625M012

5 W Ay
/]{) < @3[40}5‘ #
= 5'3113)//07/

O‘pf: {;/\((Q,O) * }
= G-49997 .
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30.  Shown below is a cuboid

H' -
. ;
0()() F laem
1
) cm
A 5cm B

Calculate the size of angle ACE.

(%)

t 1 1
AC $ +3
15 + 4

ol Y
/}c:B‘f

(¥}

kno s =
I3

31.  The flight from Perth to London is 16 hours and 35 minutes.

The time is Perth is 7 hours ahead of London.
Aflight leaves Perth at 8am on Wednesday.
What is the time in London when the flight arrives?

P'\Gw le{”fj Jﬂ' lam [vo,ﬂA, /l}ﬂe/ ZM/'J

lbhes 5 M
~ 3
[ um [F: 35

3)
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32,
Not drawn accurately

Triangle ABC is similar to triangle ADE.

AB =6cm

BC = 8cm '45/ g = al(
CE =6.25cm

DE = 18cm

(a) Work out the length of DB.

P

[xp29 = 135

Bs-b L
(b) Work out the length of AC.
y 115 = yr i
/2,15/] - y Jré.l(
-
’16/7 - 41; ........................
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33.

Prove the opposite angles in a cyclic quadrilateral add to 180°

M LABE & s 4/405:(7

cefler

[,/406 = TA

Ssnce He a,,y/& a)ﬂ %/c C(/L/;& 0
5 tvice the agle I o civunfersie

Zi/‘}’z] 2 }Ko [547/6 az‘% ﬁtfﬂf"j)
y 4 ok 4o

2 L/Ioc"'LJ

LABC ¥ Lade = 150

u o() o)

éﬁ L & 24
—7# 2 Tl
Given 6d -c¢ = (26) M{ {
22
Work out the values of p and q. pP- 4 Z = =i
P i [P ........ =7

)
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35.  Miss Black completes a journey in 3 stages.
In stage 1, she drives at a speed of 40km/h for 45 minutes.
In stage 2, she drives at 60 km/h for 2 hours 9 minutes.
Altogether, over the 3 stages, Miss Black drives 171.6km in 3 hours 15 minutes

What is her average speed, in km/h, in stage 37

d
N

S lbo oy 0-7§
T 20km
q/éo = gl
Shye 2 J- st
= lox T 15
=2 }‘L? kL
_30-110 > [2.4kn
st = O SARG S AESEE % ..... km/h
@)
Ve ~he 15 min - e Blain
= 1l ma -
Z! *0'3{_
1-4 2
) .
z2 T

:3!
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